
G:\PUBLIC\RFQ\450-5260 ADD 1.DOC (4/11) 
 

COUNTY  OF  FRESNO 
ADDENDUM NUMBER: ONE (1) 

 

RFQ NUMBER:  450-5260 
 

FASTNERS, NUTS AND BOLTS  
April 15, 2014 

PPUURRCCHHAASSIINNGG  UUSSEE   

 ssj G:\PUBLIC\RFQ\450-5260 ADD 1.DOC 
IMPORTANT:  SUBMIT QUOTATION IN SEALED PACKAGE WITH QUOTATION NUMBER, CLOSING DATE AND BUYER’S NAME 
MARKED CLEARLY ON THE OUTSIDE TO: 

COUNTY OF FRESNO, Purchasing 
4525 EAST HAMILTON AVENUE, 2ND FLOOR 

FRESNO, CA  93702-4599 

CLOSING DATE OF BID WILL BE AT 2:00 P.M., ON MAY 6, 2014. 
QUOTES WILL BE CONSIDERED LATE WHEN THE OFFICIAL PURCHASING TIME CLOCK READS 2:00 P.M. 

All quotation information will be available for review after contract award. 

Clarifications of specifications is to be directed to:  Debbie Scharnick, phone (559) 600-7110, e-mail 
CountyPurchasing@co.fresno.ca.us, fax (559) 600-7126. 

 

NOTE THE FOLLOWING AND ATTACHED ADDITIONS, DELETIONS AND/OR CHANGES TO THE 
REQUIREMENTS OF REQUEST FOR QUOTATION NUMBER:  450-5260 AND INCLUDE THEM IN YOUR 
RESPONSE. PLEASE SIGN AND RETURN THIS ADDENDUM WITH YOUR QUOTATION. 

 Please replace The Quotation Schedule (Page 20) with the following pages.  

 Bidders are to quote these items based on usage. No price sheets need be submitted. 

 All materials to be high quality commercial grade with a variety of plain or plated finishes and 
grades.  

ACKNOWLEDGMENT OF ADDENDUM NUMBER ONE (1) TO RFQ 450-5260 

COMPANY NAME:   
(PRINT) 

SIGNATURE:   

NAME & TITLE:   
(PRINT) 

 



REVISED QUOTATION SCHEDULE 

RFQ 450‐5260

Item # Discription Qty Cost
80C 1" PIPE SIZE U‐BOLT W/PLATE & NUTS 2
82C 1 1/4" PIPE SIZE U‐BOLT W/PLATE & NUTS 2
84C 1 1/2" PIPE SIZE U‐BOLT W/PLATE & NUTS 2

AD66ABS 3/16 X 3/8 GRIP ALUM‐ALUM RIVET  100
AD66ABSLF 3/16 X 3/8 GRIP ALUM‐ALUM RIVET LARGE FLANGE 70
B760611 #231 ‐ 3/8" RIGID OPEN EYE BOLT SNAP 5
B7645136 #7350 5/16" QUICK LINK 12
B7645146 #7350 3/8" QUICK LINK 24
HAIR206 3/16 X 3 1/4" HAIR PIN COTTER 35
SD42BS 1/8 X 1/8  GRIP STEEL ‐ STEEL RIVET 100
SD54BS 5/32 X 1/4 GRIP STEEL ‐ STEEL RIVET 100
SD610BS 3/16 X 5/8 GRIP STEEL ‐ STEEL RIVET 50
SD162BS 3/16 X 3/4 GRIP STEEL ‐ STEEL RIVET 25
ZERK1641 1/4 ‐28 STRAIGHT STD ZERK 100

31N25OASHOZ 5/16 X 2 1/2 HEX SLEEVE ANCHOR ZINC 5
37N375AWGOZ 3/8 X 3 3/4 WEDGE ANCHOR ZINC 8
25C150BCGOZ 1/4 ‐ 20 X 1 1/2 CARRIAGE BOLT ZINC 100
37C100BCG5Z 3/8 ‐ 16 X 1 CARRIAGE BOLT GR 5 ZINC 60
37C125BCG5Z 3/8 ‐ 16 X 1 1/4 CARRIAGE BOLT GR 5 ZINC 10
62C200BCG5Z 5/8 ‐ 11 X 2 CARRIAGE BOLT GR 5 ZINC 8
75C200BCG5Z 3/4 ‐ 10 X 2 PLOW BOLT GR 5 PLAIN 15
50C200BPL5P 1/2 ‐ 13 X 2 PLOW BOLT GR 5 PLAIN  8
62C200BPL5P 5/8 ‐ 11 X 2 PLOW BLOT GR 5 PLAIN  200
62C225BPL5P 5/8 ‐ 11 X 2 1/4 PLOW BLOT GR 5 PLAIN  625
62C250BPL5P 5/8 ‐ 11 X 2 1/2 PLOW BLOT GR 5 PLAIN  250

75C250BPL5P 3/4 ‐ 10 X 2 1/2 PLOW BLOT GR 5 PLAIN  200

37NCCS0Z 3/8 COLD SHUT ZINC 7

25NCML0Z/I 1/4 MID‐LINK (DOUBLE CLEVIS) IMPORT ZINC 2

31NPP0Z 5/16 PROOF COIL CHAIN (PAIL) ZINC 1

37NCPP0Z 3/8 PROOF COIL CHIAN (PAIL) ZINC 1

21DDJO #21 H.S. JOBBER DRILL BIT 1

41DDJO #41 H.S. JOBBER DRILL BIT 1

9RDJO 3/32  H.S. JOBBER DRILL BIT 6

10RJO 7/64  H.S. JOBBER DRILL BIT 3

12RDJO 1/8  H.S. JOBBER DRILL BIT 12

18RDJO 3/16  H.S. JOBBER DRILL BIT 24

21RDJO 7/32  H.S. JOBBER DRILL BIT 9

23RDJO 15/64  H.S. JOBBER DRILL BIT 7

25RDJO 1/4  H.S. JOBBER DRILL BIT 21

31RDJO 5/16  H.S. JOBBER DRILL BIT 6

35RDJO 23/64  H.S. JOBBER DRILL BIT 3

37RDJO 3/8  H.S. JOBBER DRILL BIT 16

1



REVISED QUOTATION SCHEDULE 

RFQ 450‐5260

Item # Discription Qty Cost
39RDJO 25/64  H.S. JOBBER DRILL BIT 6

40RDJO 13/32  H.S. JOBBER DRILL BIT 2

42RDJO 27/64  H.S. JOBBER DRILL BIT 2

48RDJO 31/64  H.S. JOBBER DRILL BIT 4

50RDJO 1/2  H.S. JOBBER DRILL BIT 12

68RDRS 11/16 S&D DRILL (1/2" SHANK) 2

31N600DSD 5/16 X 6 (OVERALL LGTH) SDS CARBIDE BIT 1

37N600DSD 3/8 X 6 (OVERALL LGTH) SDS CARBIDE BIT 2

25KF9SMB 1/4 STREET ELL 90 DEGREE MALL BLACK 2

25KFBR00 1/4 BALL VALVE RED & WHITE 1

50KFBR00 1/2 BALL VALVE RED & WHITE 11

125KFBROO 1 1/4 BALL VALVE RED & WHITE 1

150KFBR00 1 1/2 BALL VALVE RED & WHITE 2

300KFBROO 3" BALL VALVE RED & WHITE 1

12KFCAMB 1/8 CAP MALL BLACK 5

25KFCAMB 1/4 CAP MALL BLACK 5

50KFCAMB 1/2 CAP MALL BLACK 2

100KFCAMB 1" CAP MALL BLACK 6

75KFGR00 3/4 GATE VALVE RED & WHITE 1

37K25FHBFP 3/8 X 1/4 HEX BUSHING STEEL PLAIN 10

100K50FHBMB 1" X 1/2 HEX BUSHING MALL BLACK 2

150K100FHBMB 1‐1/2 X 1 HEX BUSHING MALL BLACK 3

25K200FNIFB 1/4 X 2 PIPE NIPPLE STEEL BLACK 5

50K1FNIFB 1/2 X CLOSE PIPE NIPPLE STEEL BLACK 5

75K200FNIFB 3/7 X 2  PIPE NIPPLE STEEL BLACK 3

100K1FNIFB 1"  CLOSE PIPE NIPPLE STEEL BLACK 4

100K200FNIFB 1" X 2  PIPE NIPPLE STEEL BLACK 2

100K350FNIFB 1" X 3 1/2  PIPE NIPPLE STEEL BLACK 1

100K200FNIFB 1" X 10  PIPE NIPPLE STEEL BLACK 2

125K1FNIFB 1 1/4 " X CLOSE PIPE NIPPLE STEEL BLACK 1

100KFPLMB 1" PLUG MALL BLACK 2

100KFTENB 1" TEE MALL BLACK 4

25C75HCS5Z 1/4 ‐ 20 X 3/4 HEX CAP SCREW GR 5 ZINC 200

25C100HCS5Z 1/4 ‐ 20 X 1 HEX CAP SCREW GR 5 ZINC 100

31C150HCSBY 5/16 ‐ 18 X 1 1/2 HEX CAP SCREW GR 5 ZINC/YELLOW 50

37C100HCS5Z 3/8 ‐ 16 X 1 HEX CAP SCREW GR 5 ZINC 100

37C125HCS5Z 3/8 ‐ 16 X 1 1/4 HEX CAP SCREW GR 5 ZINC 100

37C125HCS8Y 3/8 ‐ 16 X 1 1/4 HEX CAP SCREW GR 8 ZINC/YELLOW 50

35C1150HCS5Z 3/8 ‐ 16 X 1 1/2 HEX CAP SCREW GR 5 ZINC 100

37C150HCS8Y 3/8 ‐ 16 X 1 1/2 HEX CAP SCREW GR 8 ZINC/YELLOW 100

50C200HCS5Z 1/2 ‐ 13 X  2 HEX CAP SCREW GR 5 ZINC 50

50C200HCS8Y 1/2 ‐ 13 X 2 HEX CAP SCREW GR 8 ZINC/YELLOW 15

2



REVISED QUOTATION SCHEDULE 

RFQ 450‐5260

Item # Discription Qty Cost
50C450HCS5Z 1/2 ‐ 13 X 4 1/2 HEX CAP SCREW GR 5 ZINC 25

56C125HCS8Y 9/16 ‐ 12 X 1 1/4 HEX CAP SCREW GR 8 ZINC/YELLOW 6

56C200HCS8P 9/16 ‐ 12 X 2 HEX CAP SCREW GR 8 PLAIN 125

56C350HCS8B 9/16 ‐ 12 X 3 1/2 HEX CAP SCREW GR 8 PLAIN 100

56C700HCS8P 9/16 ‐ 12 X 7 HEX CAP SCREW GR 8 PLAIN 2

62C150HCS8Y 5/8 ‐ 1 X 1 1/2 HEX CAP SCREW GR 8 ZINC/YELLOW 25

62C250HCS8Y 5/8 ‐ 11 X 2 1/2 HEX CAP SCREW GR 8 ZINC/YELLOW 25

62C100HCS8P 5/8 ‐ 11 X 10 HEX CAP SCREW GR 8 PLAIN 8

72C200HCS5Z 3/4 ‐ 10 X 2 HEX CAP SCREW GR 5 ZINC 25

75C300HCS5Z 3/4 ‐ 10 X 3 HEX CAP SCREW GR 5 ZINC 35

75C400HCS5Z 3/4 ‐ 10 X 4 HEX CAP SCREW GR 5 ZINC 25

100C400HCS8Y 1 ‐ 8 X 4 HEX CAP SCREW GR 5 ZINC/YELLOW 3

75F200HCS8Y 3/4 ‐ 16 X 2 HEX CAP SCREW GR 8 ZINC/YELLOW 2

60C160HCS6Z M6‐1 X 16 HEX CAP SCREW GR 8.8 ZINC 50

60C200HCS6Z M6‐1 X 20 HEX CAP SCREW GR 8.8 ZINC 50

60C550HCS6Z M6‐1 X 55 HEX CAP SCREW GR 8.8 ZINC 85

60C600HCS6Z M6‐1 X 60 HEX CAP SCREW GR 8.8 ZINC 75

70C600HCS6Z M7‐1 X 60 HEX CAP SCREW GR 8.8 ZINC 200

80C500HCS6Z M8‐1.25 X 50 HEX CAP SCREW GR 8.8 ZINC 100

80C800HCS6Z M8‐1.25 X 80 HEX CAP SCREW GR 8.8 ZINC 4

100C400HCS1P M10‐1.5 X 40 HEX CAP SCREW GR 10.9 PLAIN 14

100C800HCS6Z M10‐1.50 X 80 HEX CAP SCREW GR 8.8 ZINC 6

120C350HCS6Z M12‐1.75 X 35 HEX CAP SCREW GR 8.8 ZINC 15

37NHGC0P 3/8 CLEVIS SLIP HOOK PLAIN 2

37NHGS 3/8 CLEVIS SLIP HOOK *W/LATCH* 9

35C75MHXOZ/F 1/4 ‐ 20 X 3/4 HEX M/S TYPE F ZINC 100

10C100MXP0Z 10 ‐ 24 X 1 PAN PHIL M/S ZINC 100

10C150MXPOZ 10 ‐ 24 X 1 1/2 PAN PHIL M/S ZINC 100

10F75MXPOZ 10 ‐ 32 3/4 PAN PHIL M/S ZINC 100

25CNFHOZ 1/4 ‐ 20 HEX FINISH NUT ZINC 200

25CNFH8Y 1/4 ‐ 20 HEX FINISH NUT GR 8 ZINC/YELLOW 200

 31CNFHOZ 5/16 ‐ 18 HEX FINISH NUT ZINC 100

31CNFH8Y 5/16 ‐ 18 HEX FINISH NUT GR 8 ZINC/YELLOW 200

37CNFHOZ 3/8 ‐ 16 HEX FINISH NUT ZINC 200

37CNFH8Y 3/8 ‐ 16 HEX FINISH NUT GR 8 ZINC/YELLOW 250

43CNFH8Y 7/16 ‐ 14 HEX FINISH NUT GR 8 ZINC/YELLOW 50

50CNFH8Y 1/2 ‐ 13 HEX FINISH NUT GR 8 ZINC/YELLOW 100

62CNFHOP 5/8 ‐ 11 HEX FINISH NUT PLAIN 800

62CNFHOZ 5/8 ‐ 11 HEX FINISH NUT  ZINC 25

62CNFH8Y 5/8 ‐ 11 HEX FINISH NUT GR 8 ZINC/YELLOW 165

75CNFHOP 3/4 ‐ 10 HEX FINISH NUT PLAIN 275

75CNFHOZ 3/4 ‐ 10 HEX FINISH NUT ZINC 25

3



REVISED QUOTATION SCHEDULE 

RFQ 450‐5260

Item # Discription Qty Cost
75CNFH8Y 3/4 ‐ 10 HEX FINISH NUT GR 8 ZINC/YELLOW 10

25FNFHOZ 1/4 ‐ 28 HEX FINISH NUT ZINC 100

31FNFHOZ 5/16 ‐ 24 HEX FINISH NUT ZINC 100

50FNFHOZ 5/8 ‐ 11 HEX FINISH NUT GR 8 ZINC/YELLOW 50

50FNFH8Y 5/8 ‐ 11 HEX FINISH NUT GR 8 ZINC/YELLOW 25

62FNHOZ 5/8/ ‐ 18 HEX FINSH NUT ZINC 27

100FNFHOZ 1 ‐ 14 HEX FINISH NUT ZINC 5

60CNFHOZ M6 ‐ 1 HEX FINISH NUT ZINC 100

70CNFHOZ M7 ‐ 1 HEX FINISH NUT ZINC 100

37CNGCOZ 3/8 ‐16 GRADE C LOCKNUT ZINC 100

50CNGCOZ 1/2 ‐13 GRADE C LOCKNUT ZINC 50

56CNGCOZ 9/16 ‐12 GRADE C LOCKNUT ZINC 200

75CNGCOZ 3/4 ‐10 GRADE C LOCKNUT ZINC 15

87CNGCOZ 7/8 ‐9 GRADE C LOCKNUT ZINC 18

75FNGCOZ 3/4 ‐16 GRADE C LOCKNUT ZINC 4

8CNMSOZ 8 ‐ 32 MACHINE SCREW NUT ZINC 100

10CNMSOZ 10 ‐ 24 MACHINE SCREW NUT ZINC 200

10FNMSOZ 10 ‐ 32 MACHINE SCREW NUT ZINC 100

25CNNEOZ 1/4 ‐ 20 NE NYLON INSERT L/N ZINC 200

31CNNEOZ 5/16 ‐ 18 NE NYLON INSERT L/N ZINC 100

37CNNEOZ 3/8 ‐ 16 NE NYLON INSERT L/N ZINC 200

37CNNR8Y 3/8 ‐ 16 NE NYLON INSERT L/N GR 8 ZINC/YELLOW 100

43CNNR8Y 7/16 ‐ 14 NE NYLON INSERT L/N GR 8 ZINC/YELLOW 10

50CNNE8Y 1/2 ‐ 13 NE NYLON INSERT L/N GR 8 ZINC/YELLOW 15

56CNNEOZ 9/16 ‐ 12 NE NYLON INSERT L/N  ZINC 50

56CNNE8Y 9/16 ‐ 12 NE NYLON INSERT L/N GR 8 ZINC/YELLOW 2

62CNNEOZ 5/8 ‐ 11 NE NYLON INSERT L/N  ZINC 100

100CNNEOZ 1 ‐ 8 NE NYLON INSERT L/N  ZINC 3

10FNNEOZ 10 ‐ 32 NE NYLON INSERT L/N ZINC 100

112FNNEOZ 1 1/8 ‐ 12 NE NYLON INSERT L/N ZINC 25

60CNNEOZ M6‐1 NE NYLON INSERT L/N ZINC 150

70CNNEOZ M7‐1 NE NYLON INSERT L/N ZINC 100

62R175PCL 5/8 X 1 1 3/4 CLEVIS PIN 2

12R200PCO0Z 1/8 X 2 COTTER PIN ZINC 100

15R200PCO0Z 5/32 X 2 COTTER PIN ZINC 25

15R300PCO01 5/32 X 3 COTTER PIN ZINC 25

37C3600RAT0Z 3/8 ‐ 16 X 3 FT ALL THREAD ROD ZINC 3

50C3600RAT0Z 1/2 ‐ 13 X 3 FT ALL THREAD ROD ZINC 4

87C3600RAT0Z 7/8 ‐9 X 3 FT ALL THREAD ROD ZINC 6

62F3600RAT0Z 5/8 ‐ 18 X 3 FT ALL THREAD ROD ZINC 1

43C100SHCOP/I 7/16 ‐ 14 X 1 SOC CAP SCREW IMPORT PLAIN 4

43C150SHCOP/I 7/16 ‐ 14 X 1 1/2 SOC CAP SCREW IMPORT PLAIN 4

4



REVISED QUOTATION SCHEDULE 

RFQ 450‐5260

Item # Discription Qty Cost
200C500SHCOP M20 ‐ 2.5 X 50  SOC CAP SCREW  PLAIN 4

100NSHO 1" BI‐METAL HOLE SAW 1

150NSHO 1 ‐ 1/2 BI‐METAL HOLE SAW 2

37F125SC09/I 3/8 ‐ 24 X 1 1/4 SOC SET CUP PT IMPORT PLAIN 25

31N125TIHOZ 5/16 X 1 1/4 HEX HD SMS ZINC 50

14N125TSHOZ #14 X 1 1/4 HWH SMS SLOTTED ZINC 50

6N100TXPOZ #6 X 1 PAN PHIL SMS ZINC 200

BN100TXPOZ #8 X 1 PAN PHIL SMS ZINC 100

12N75TXPOZ #12 X 3/4 PAN PHIL SMS ZINC 50

12N100TXPOZ #12 X 1 PAN PHIL SMS ZINC 50

14N100TXPOZ #14 X 1 PAN PHIL SMS ZINC 50

14N150TXPOZ #14 X 1 1/2 PAN PHIL SMS ZINC 25

10N75UHWOZ/I #10 X 3/4 HEX TEK IMPORT ZINC 200

25N100UHWOZ/I 1/4  X 1 HEX HD TEK IMPORT ZINC 100

25N125UHWOZ/I 1/4  X 1 1/4 HEX HD TEK IMPORT ZINC 100

25N200UHWOZ/I 1/4  X 2 HEX HD TEK IMPORT ZINC 100

8N50UKTOZ #8 X 1/2 K‐LATH TEK ZINC 650

8N75UKTOZ #8 X 3/4 K‐LATH TEK ZINC 100

8N100UKTOZ #8 X 5/8 K‐LATH TEK ZINC 300

8N162UKTOZ #8 X 1/2 K‐LATH TEK ZINC 150

25NWF4OY 1/4 F436 HARD F/W (A325) ZINC/YELLOW 150

31NWF4OY 5/16 F436 HARD F/W (A325) ZINC/YELLOW 50

37NWF4OY 3/8 F436 HARD F/W (A325) ZINC/YELLOW 350

43NWF4OY 7/16 F436 HARD F/W (A325) ZINC/YELLOW 100

50NWF4OY 1/2 F436 HARD F/W (A325) ZINC/YELLOW 115

56NWF4OY 9/16 F436 HARD F/W (A325) ZINC/YELLOW 6

62NWF4OY 5/8 F436 HARD F/W (A325) ZINC/YELLOW 150

75NWF4OY 3/4 F436 HARD F/W (A325) ZINC/YELLOW 15

87NWF4OY 7/8 F436 HARD F/W (A325) ZINC/YELLOW 28

25N100WFEOZ 1/4 X 1 FENDER WASHER ZINC 100

31N125WFEOZ 5/16 X 1 1/4 FENDER WASHER ZINC 150

37N150WFEOZ 3/8 X 1 1/2 FENDER WASHER ZINC 100

18R75WFEOZ 3/16 X 3/4 FENDER WASHER ZINC 100

18NR100WFEOZ 3/16 X 1 FENDER WASHER ZINC 100

18NR125WFEOZ 3/16 X 1 1/4 FENDER WASHER ZINC 45

100NWHVOZ #6 HARDENED FLAT WASHER ZINC 14

6NWSAOZ #6 SAE FLAT WASHER ZINC 200

8NWSAOZ #8 SAE FLAT WASHER ZINC 500

10NWSAOZ #10 SAE FLAT WASHER ZINC 200

25NWSAOZ 1/4 SAE FLAT WASHER ZINC 300

31NWSAOZ 5/16 SAE FLAT WASHER ZINC 200

37NWSAOZ 3/8 SAE FLAT WASHER ZINC 300

5



REVISED QUOTATION SCHEDULE 

RFQ 450‐5260

Item # Discription Qty Cost
50NWSAOZ 1/2 SAE FLAT WASHER ZINC 50

62NWSAOZ 5/8 SAE FLAT WASHER ZINC 50

75NWSAOZ 3/4 SAE FLAT WASHER ZINC 25

87NWSAOZ 7/8 SAE FLAT WASHER ZINC 25

25NWSAOZ 5/16 SAE FLAT WASHER ZINC 100

37NWSLOZ 1/4 SPLIT LOCK WASHER ZINC 300

37NWSL8Y 3/8 SPLIT LOCK WASHER GR 8 ZINC/YELLOW 100

56NWSL8Y 9/16 SPLIT LOCK WASHER GR 8 ZINC/YELLOW 6

62NWSLOZ 5/8 SPLIT LOCK WASHER ZINC 100

62NWSL8Y 5/8 SPLIT LOCK WASHER GR 8 ZINC/YELLOW 50

60NWSLOZ M6 SPLIT LOCK WASHER ZINC 150

25NWUSOZ 1/4 USS FLAT WASHER ZINC 100

31NWUSOZ 5/16 USS FLAT WASHER ZINC 200

37NWUSOZ 3/8 USS FLAT WASHER ZINC 250

50NWUSOZ 1/2 USS FLAT WASHER ZINC 100

62NWUSOZ 5/8 USS FLAT WASHER ZINC 75

62FYEAOP 5/8 ‐ 18 ADJ FORGED YOKE END PLAIN 2

6


	450-5260 Add 1
	450-5260 Add 1 - Revised Quotation Schedule

